MORIAH COLLEGE MA'I‘EEMA'I‘ICS DEPARTMENT
Year 12 — 3 unit

Logs and Exponentials

i
§
}

Name: . Classii

a) State the domain of y =log, (x — 3)
b) State the range of y =™
¢) Write an equivalent equationto y =x” using logarithmic notation

d) Evaluate log, 7 to 3 significant figures

e) BEvaluate log, —1—16— using logs laws and showing all working

) Solve form m terms of bif Inm + lnm=5b

g) Sketch y =e* +2 showing all critical points

Differentiate the following:

a) y=xlog2x-
362X
V:
) - In4

o) y=Ae
d) y:(1n5x)3
e) y=2"

f) y=log, x
g) y=lnx+1

h) 7 (zix-fs‘)




Evaluate the following:

a) je"‘*s dx

1
b) ljzx —— &

c) J-ex (e“ —3) dx

[

a) Find the area contained by the y-axis, the curve y =e”* and the line y =e?
(leave answer in exact form)

b) A solid of revolution is formed by rotating about the x-axis the portion of the
curve y = 2<1 + 93"> between x=0 and ng.

Find the volume of this solid. (leave answer in exact form)

Consider the function f(x)=x~3Inx, where 1<x <7

a) There is one tuming point for f(x) . Find its co-ordinates and determine its nature.

b) Draw a sketch of the curve y = f (x) where 1<x<7

¢) What is the maximum value of the function wherel <x<7




d’x
d’? dt
Find an expression for x{z).

a) Given that =6+e” , and that éx—=—1 at r=0,and x=0 at r=0.

d x—1 2
b) P that —1In =
) Frovethat = (m) GG

2dx .. oo
hence, evaluate |77 £iving your answer in simplest exact form.
; (x - 1)(x + 1)

w

I

¢) Find —e———dx using the substitution x = e*
7 g
X

* or otherwise.




I L e = Benie “ et

Scasdamﬁpﬁ.uiiég . " ; _ o

v D

_ - - #4h v =
N VN AT S ]
- - - - - ’ ) o

N

Lo s ..._.::(c(\.r 2™ £ eV an

;—; -xr[o;—_;- ani—b, (

Y O = —8(1 OT

an

- fa-

[y

s
Tlpegm o gog].




Foed . )= o— Rnw . SP= A L -
ey -2 =0 L
s
L= & . . - 3
P> =
B B *‘0‘7 -
Lok a_;’aJ 3 3 3m3 'rf’ {\3 3(\— \r\’.3j>
P e T T
e Y = 8a = ._>_ S N
_ ard=l T
B L= Bl i _ S ln7
._%,a: ki / - — e e e -
.. . - . T 'mm{( _
SRR I .
N N
S e e =TT BaT - - ._6-&2_,.,' . N
| o
_AeTe) A B - -_

-  aadiiatls (c?_‘ - R . - - -
2N A e, 4 =Re. TS - -
JE = ;

.‘,,.,'..415'..

e . <
I N S N S
,_O.L? e - —
I L R
R s L8 e e
2 1 R

— = Ca . -
e e 2= L =)
[ T o <t b

ot

N Z" gm e (m=t) _f“_'ﬁ_. A

gA;— A s i—«\ — \m(—,q_+>

P d.—‘\-'
- i l./ - - .
N o o= i’ﬁ’(. ’:L_.'\"\.

- e e :_:_E’L_.:'«%Lg:5 .o ‘_‘ R . . I e

' ' SL»F—’?EF%

&(1 _4%&_3 ‘:\ (ﬁ%

= \¢ DA _X."\ [
& R
=\~ ) -




